[ Efficiency vs vertpos |
~ 0.2

CHPEY SIS RUSNUSES SRR S
4 C : : :
O R e preneeere e
[8) I : : :
GO.LA i Rl li """"""
L2 : ] :
V. R R

0.dF oo R
008; ---------- e L+~$ ----- e

(00 = EERREPPEPTI ERPPRPPRRR oo e
E l%\l * :

0.04f T L SEETRTLL TETIPIPIRR

0.02} b L TP

J..\G- I L Ll L Liin

Ratio

; 1

B 1 T

T =+

HEARARES
0.95

1072 107 1

10 0?
TP vertr (cr%)

T T_original_low

T
TTfnewbranchfFowpt

_TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

<4

DQ
DQ
Efficiend —— B3

N 0.2
00.18F
) n
>0.16
>

8 C
$0.14F
(&) L
£0.12
[J]

0.1
0.08F
0.06
0.04
0.02

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> o
0.0.18f¢
= o
#0.16
£0.14F
oy o
c0.12F

0.1
0.08F
0.06F

0.04F

e

effic

0®5=15 10 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


